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What is the average of first 15 odd

numbers among the natural numbers?

प्राकृत संख्याओ ं में से प्रथम 15 विषम संख्याओ ंका

औसत क्या ह?ै (a)18 (b)15 (c) 16 (d) 17
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What is the circumference of the largest

circle which can be inscribed in a square

of side 14 cm? सबसे बडे ितृ्त की परिवि क्या है

विसे 14 सेमी भिुा िाले िर्ग में अवंकत वकया िा

सकता ह?ै (a)66 cm (b)88 cm (c)22

cm (d)44 cm SSC MTS 2019
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The marked price of an article is ` 3040. If the

discount offered on this article is 20%, then

what will be the selling price? एक िस्तु का

अंवकत मलू्य ₹ 3040 ह।ै यवि इस िस्तु पि िी िाने िाली

छूट 20% ह,ै तो विक्रय मलू्य क्या होर्ा? (a)`

2412 (b)` 3262 (c)` 2432 (d)` 3132
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A train starts from A at 6 AM and reaches B at 11 AM

on the same day. Another train starts from B at 8 AM

and reaches A at 3 PM on the same day. At what time

the two trains will have crossed each other? एक टे्रन A से

सबुह 6 बिे चलना शरुू किती है औि उसी विन 11 बिे B पि

पह ुँचती ह।ै एक अन्य टे्रन B से सबुह 8 बिे शरुू होती है औि उसी

विन िोपहि 3 बिे A तक पह ुँचती ह।ै िोनों टे्रनें एक िसूिे को वकतने

बिे पाि कि चकुी होंर्ी?

(a)9 : 45 AM (b)8 : 45 AM (c)10 : 30 AM (d)7 : 45 AM
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The Bar graph given below presents the number of shoes

manufactured by a company on the different days of a week.

नीचे विया र्या बाि ग्राफ एक कंपनी द्वािा सप्ताह के विवभन्न विनों में वनवमगत

ितूों की संख्या को िशागता ह।ै

What is the total number of shoes manufactured

by the company on all seven days together? सभी

सात विनों में कंपनी द्वािा वनवमगत ितूों की कुल संख्या वकतनी

ह?ै (a)5930 (b)6030 (c)6130 (d) 6230

SSC MTS 2019
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The Bar graph given below presents the number of shoes

manufactured by a company on the different days of a week.

नीचे विया र्या बाि ग्राफ एक कंपनी द्वािा सप्ताह के विवभन्न विनों में वनवमगत

ितूों की संख्या को िशागता ह।ै

The number of shoes manufactured on D5 is how

much more than the average number of shoes

manufactured per day? D5 पि वनवमगत ितूों की संख्या

प्रवतविन वनवमगत ितूों की औसत संख्या से वकतनी अविक

ह?ै (a)72 (b)64 (c)76 (d)68 SSC MTS 2019
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The Bar graph given below presents the number of shoes

manufactured by a company on the different days of a week.

नीचे विया र्या बाि ग्राफ एक कंपनी द्वािा सप्ताह के विवभन्न विनों में वनवमगत

ितूों की संख्या को िशागता ह।ै

The number of shoes manufactured on D1 is

what percentage of shoes manufactured on

D7? D1 पि वनवमगत ितूों की संख्या, D7 पि वनवमगत

ितूों का वकतना प्रवतशत ह?ै (a)80.45 (b)60 (c)80

(d) 70.25 SSC MTS 2019
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A sum of ` 10000 is invested in three schemes of

simple interest. The annual interest rates are

respectively, 4%, 6% and 10%. ` 4000 were invested

in the first scheme. If the total interest earned after

five years is ` 2800, then how much money was

invested in the third scheme? ₹ 10000 की िावश सािािण

ब्याि की तीन योिनाओ ं में वनिेश की िाती ह।ै िावषगक ब्याि ििें

क्रमशः 4%, 6% औि 10% हैं। पहली योिना में ₹ 4000 का

वनिेश वकया र्या था। यवि पांच िषों के बाि अविगत कुल ब्याि ₹

2800 ह,ै तो तीसिी योिना में वकतनी िावश का वनिेश वकया र्या

था? (a)` 1500 (b)` 5000 (c)` 1000 (d)` 3000
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N and K together can complete a work in 240 days.

K and G together can complete the same work in 72

days and N and G together can complete the same

work in 80 days. In how many days K alone can

complete the same work? N औि K वमलकि एक कायग को

240 विनों में पिूा कि सकते हैं। K औि G वमलकि उसी काम को

72 विनों में पिूा कि सकते हैं औि N औि G वमलकि उसी काम

को 80 विनों में पिूा कि सकते हैं. K अकेला उसी कायग को वकतने

विनों में पिूा कि सकता ह?ै

(a)280 days (b)240 days (c)360 days (d)180 days

SSC MTS 2019
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A sum of ` 1200 is invested at compound

interest (compounded half yearly). If the rate

of interest is 10% per annum, then what will

be the amount after 18 months? ₹ 1200 की िावश

चक्रिवृि ब्याि (अिगिावषगक चक्रिवृि) पि वनिेश की

िाती ह।ै यवि ब्याि की िि 10% प्रवतिषग ह,ै तो 18 महीने

बाि िावश क्या होर्ी?

(a)` 1389.15 (b)` 1185.45 (c)` 1563.25 (d)`

1295.35
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The edge of a cube is 8 cm. What is the total

surface area of the cube? एक घन का वकनािा 8

सेमी. घन का कुल पषृ्ठीय क्षेत्रफल वकतना ह?ै (a)128

cm2 (b)256 cm2 (c)384 cm2 (d)484 cm2
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What is the median of the given data? 41, 43,

46, 50, 85, 61, 76, 55, 58, 95 ? विए र्ए डेटा का

मावययका क्या ह?ै ४१, ४३, ४६, ५०, ८५, ६१, ७६,

५५, ५८, ९५? (a)61 (b)58 (c)57 (d)55
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If A is the smallest three digit number

divisible by both 6 and 7 and B is the

largest four digit number divisible by

both 6 and 7, then what is the value of B

– A? यवि A तीन अंकों की सबसे छोटी संख्या है

िो 6 औि 7 िोनों से विभाज्य है औि B चाि अकंों

की सबसे बडी संख्या है िो 6 औि 7 िोनों से

विभाज्य ह,ै तो B - A का मान क्या ह?ै

(a)9912 (b)9870 (c)9996 (d)9954
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Raman and Sanjay started a business by

investing ` 63000 and ` 42000 respectively. If

the total profit at the end of year is ` 9000,

then what is the share of Raman? िमन औि संिय

ने क्रमशः ₹ 63000 औि ₹ 42000 का वनिेश किके एक

व्यिसाय शरुू वकया। यवि िषग के अंत में कुल लाभ ₹

9000 ह,ै तो िमन का वहस्सा क्या ह?ै (a)` 5400 (b)`

4500 (c)` 4200 (d)` 3600
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The ratio of the selling price to the cost price

in a transaction is 4 : 5. If the selling price is `

80, then how much is the loss? एक लेन-िने में

विक्रय मलू्य का क्रय मलू्य से अनपुात 4:5 ह।ै यवि विक्रय

मलू्य ₹ 80 ह,ै तो हावन वकतनी ह?ै (a)` 16 (b)` 15 (c)`

20 (d)` 30
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What is the value of:
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Vijay alone can complete a work in 50 days.

How much part of the work will be completed

in ten days? वििय अकेला एक कायग को 50 विनों में

पिूा कि सकता ह।ै कायग का वकतना भार् िस विनों में पिूा

होर्ा? (a)
1

5
(b)

1

3
(c)

1

10
(d)

1

4

SSC MTS 2019
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Rahul’s salary is 40% less than Rakesh’s

salary. Deepak’s salary is 80% more than

Rahul’s salary. If Deepak’s salary is ` 34560,

then what is the salary of Rakesh? िाह ल का िेतन

िाकेश के िेतन से 40% कम ह।ै िीपक का िेतन िाह ल के

िेतन से 80% अविक ह।ै यवि िीपक का िेतन ₹ 34560

ह,ै तो िाकेश का िेतन वकतना ह?ै (a)` 32000 (b)`

24000 (c)` 28000 (d)` 26000
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A man goes from C to D at 40 km/h and he

returns from D to C at x km/h. If the average

speed of the man for the whole journey is 60

km/h, then what is the value of x? एक आिमी C

से D तक 40 वकमी/घटंा की र्वत से िाता है औि िह D

से C तक x वकमी/घटंा की र्वत से लौटता ह।ै यवि पिूी

यात्रा में आिमी की औसत र्वत 60 वकमी/घटंा ह,ै तो x

का मान क्या ह?ै (a)100 (b)120 (c)110 (d)80
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The average of four numbers is 20. If the

average of the first two numbers is 15, then

what is the average of the last two numbers?

चाि संख्याओ ं का औसत 20 ह।ै यवि पहली िो संख्याओ ं

का औसत 15 ह,ै तो अंवतम िो संख्याओ ं का औसत क्या

ह?ै (a)22 (b)18 (c)25 (d)20
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The length of one of the diagonals of a

rhombus is 48 cm. If the side of the rhombus

is 26 cm, then what is the area of the

rhombus? एक समचतभुुगि के विकणों में से एक की

लंबाई 48 सेमी ह।ै यवि समचतभुुगि की भिुा 26 सेमी ह,ै

तो समचतभुुगि का क्षेत्रफल क्या ह?ै (a)540

cm2 (b)420 cm2 (c)360 cm2 (d)480 cm2
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Which of the following is true? इन्मे से सच क्या ह?ै

SSC MTS 2019
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What is the simplified value of 

का सिलीकृत मलू्य क्या ह?ै  

SSC MTS 2019
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Which of the following relation (s) is/are true? 

वनम्नवलवित में से कौन-सा/से संबंि सत्य ह/ैहैं?

SSC MTS 2019
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What is the simplified value of 

का सिलीकृत मलू्य क्या है
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How many two digit numbers are

divisible by 9? िो अकंों की वकतनी संख्याएुँ 9

से विभाज्य हैं? (a)9 (b)8 (c)10 (d)1
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P alone can complete a work in 10 days and Q alone

can complete the same work in 20 days. If P and Q

work together, then in how many days the same work

will be completed? P अकेला एक काम को 10 विनों में पिूा

कि सकता है औि Q अकेला उसी काम को 20 विनों में पिूा कि

सकता ह।ै यवि P औि Q एक साथ कायग किते हैं, तो समान कायग

वकतने विनों में पिूा होर्ा?
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A and B together can complete a work in 8 days. B

alone can complete the work in 24 days. In how

many days A alone can complete the same work? A

औि B एक साथ एक कायग को 8 विनों में पिूा कि सकते हैं। B

अकेला उस कायग को 24 विनों में पिूा कि सकता ह।ै A अकेला

उसी कायग को वकतने विनों में पिूा कि सकता ह?ै

SSC MTS 2018
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What is the area (in cm2) of a square

having perimeter 84 cm? 84 सेमी परिमाप

िाले एक िर्ग का क्षेत्रफल (सेमी2 में) क्या

ह?ै (a)361 (b)529 (c)484 (d)441
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Two successive discounts of 30% and 70% are

given. What will be the net discount (in

percentage)? 30% औि 70% की िो क्रमार्त छूट िी

िाती ह।ै शिु छूट (प्रवतशत में) क्या होर्ी?

SSC MTS 2019
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After giving a discount of 40% on an article,

there is still a profit of 25%. If no discount is

given, then what will be the profit percentage?

एक िस्तु पि 40% की छूट िनेे के बाि भी 25% का लाभ

होता ह।ै यवि कोई छूट नहीं िी िाती ह,ै तो लाभ प्रवतशत क्या

होर्ा?

(a)109.33% (b)25% (c)107.67% (d)108.33%

SSC MTS 2018

33



Marks of A and B are in the ratio 5 : 7

respectively. If the marks of A is 25, then find

the marks of B? A औि B के अंक क्रमशः 5:7 के

अनपुात में हैं। यवि A के अंक 25 हैं, तो B के अंक ज्ञात

कीविए?

SSC MTS 2018
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If A : B = 4 : 5 and B : C = 20 : 11, then find

A : B : C? यवि A : B = 4 : 5 औि B : C = 20 : 11

हो, तो A : B : C ज्ञात कीविए?

SSC MTS 2018
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Average of 43, 57, 68, 32, 97 and x is 63.

What is the value of x? 43, 57, 68, 32, 97

औि x का औसत 63 ह।ै x का मान क्या ह?ै

SSC MTS 2018
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If the ratio of selling price and cost price is 3 :

4 respectively, then what is the loss

percentage? यवि विक्रय मलू्य औि लार्त मलू्य का

अनपुात क्रमशः 3 : 4 ह,ै तो हावन प्रवतशत क्या ह?ै
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An article is sold at 30% loss. If the selling

price is increased by 50%, then what is the

profit percentage? एक िस्तु को 30% हावन पि बेचा

िाता ह।ै यवि विक्रय मलू्य में 50% की िवृि की िाती ह,ै

तो लाभ प्रवतशत क्या ह?ै

SSC MTS 2018
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What is the value of 20% of 30% of

7200? ७२०० के ३०% के २०% का मलू्य क्या

ह?ै
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12% of what number is equal to 30% of 960?

वकस संख्या का 12% 960 के 30% के बिाबि ह?ै

(a)2400 (b)1720 (c)1440 (d)2880
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If a car travels a distance with 20% less speed,

then it will reach 15 minutes late. What is the

usual time (in minutes) taken by the car to

travel the same distance? यवि कोई काि 20% कम

र्वत से ििूी तय किती ह,ै तो िह 15 वमनट ििेी से पह चंरे्ी।

समान ििूी तय किने में काि द्वािा वलया र्या सामान्य समय

(वमनटों में) वकतना ह?ै (a)80 (b)90 (c)75 (d)60
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A goes from Point X to Point Y at a speed of

60 km/hr and comes back with a speed of 80

km/hr. What is the average speed (in km/hr) of

A for going and coming back? A, वबंिु X से वबंिु

Y तक 60 वकमी/घटंा की र्वत से िाता है औि 80

वकमी/घटंा की र्वत से िापस आता ह।ै A की िापस िाने

औि िापस आने की औसत र्वत (वकमी/घटंा में) क्या ह?ै
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A certain amount double in 5 years, when

invested at simple interest. In how many years

will it become 8 times? सािािण ब्याि पि वनिेश

किने पि एक वनवित िावश 5 िषों में िोर्नुी हो िाती ह।ै

वकतने िषों में यह 8 र्नुा हो िाएर्ा?
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